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PAPERS 1, 3 and 4: ANSWER KEYS

| Paper 1: Reading |

Part 1 Part 2 Part 3 Part 4
1 F 8 C 16 F 23 B
2 H 9 A 17 H 24 A
3 D 10 B 18 C 25 A
4 B 11 C 19 A 26 D
5 C 12 A 20 E 27 C
6 G 13 C 21 B 28 C
7 A 14 B 22 G 29 D
15 D 30 C
31 B
32 A
33 D
34 B
35 B

Questions 1-22 are given two marks each, and Questions 23-35 are given one mark each. The total score is
adjusted to give a mark out of 40.



Part 1

1 B

2 D

3 A

4 B

5 D

6 A

7 C

8 D

9 C
10 B
11 A
12 D
13 A
14 B
15 C
Part 4
41 away
42  this
43  make
44  on
45
46 just
a7
48  there
49  all
50 it
51
52 like
53
54  not
55 tend
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| Paper 3:

Use of English |

Part 2

16
17
18
19
20
21
22
23
24
25
26
27
28
29
30

Part 5

56
57
58
59
60
61
62
63
64
65

its

for
any
one
of

no
have
far
which
takes
like

if
least
before

popularity
unlike
appearance
completely
inventor
improvement
uncomfortable
height
production
cyclists

Part 3
31 have | the ability to
32 | were you || would

33  likely | to stop

34  costs nothing | to phone
35  lost her temper | with
36  notused to | driving

37  makes | no difference
38 let me know | what you
39  turned up | for

40  have succeeded | if

Questions 1-30 and 41-65 carry one mark each, and Questions 31-40 carry two marks each. The total score
is adjusted to give a mark out of 40.
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| Paper 4: Listening Test A |

Part 1 Part 2 Part 3 Part 4

1 C 9 school teachers 19 F 24 C
2 B 10 island 20 Cc 25 A
3 A 11 drawing (and) painting (in either order) 21 B 26 B
4 B 12 furniture 22 D 27 C
5 C 13  electric(al) goods 23 E 28 A
6 A 14  (big) (round) ball (like a football) 29 B
7 A 15  finance(s) 30 B
8 B 16  bag

17  determination
18  seven hundred and fifty / 750

In Part 2, bracketed words/letters do not have to appear in the answer.
Each question is given one mark. The total score is adjusted to give a mark out of 40.



